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1)
Calculate the result and reduce it to lowest terms.
. . 1
a) T+ 4 b) § <2 c) 3 +2 d)2+4 e) 5+
f)L+2 g 2+5 h) §+4 0)$+3 i)+ 3
2)
Calculate the result and reduce it to lowest terms.
a) L2+ b) 2 +2 c) 1F =2 d)2+2 e) 19+ 10
4 4 1 . 2
f) 4 +4 g) =2 h)yi+3 )24 Hi+s
3)
Calculate the result and reduce it to lowest terms.
a) 55 + 10 b) 55 + 11 ) g5 d) 7 +4 e) 3+
f) =6 g) 95+ 7 h)2+5 i) 55+ 13 i)+l
4)

Calculate the result and reduce it to lowest terms.

a)2+3 b) £ +8 ¢c)8+2 d) 5 +5 e) g7
ni+s  gH+4  mBr2 HPes Lsd
Good Luck!
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